1.

O P tax+b =07t x=2 x=-4Ld ™, a+b 9
& otolet

B
=¥



2. E}%z ‘IX}-‘:’T)}—X—ZLX—FG_:IJ_EH
ng Jofolel.
@ © ® ©

©a
ONC) ONG)




0,
Wi
-
it

V]

0

SEA
e

y = x% —4x - 7°] F3gke 510
& Totolet.



2x2+6x+10=0

@ 3

o o



5. 2+ V3ol tar+1 =00 50| @MY uf, ¢ o] G Fotodat.

S ER
=%



A, a 9] & Fotefzh

& 2] o AT A (0, 10)

ot

6.

(Fa>0)
B e



7.

O <B7]> o] ojafels & - 2541 o] Fo) 7}

Az A2 Aor &2 A27

H7]
@yZEXQ @yzl)c2
2 3
© y=2x ® y=-bx?

@ @’©7®7© @ @7@7@7@
® ©,0, 00 6 ® O, 0,0, 06

@ @7@7@7@






& % kel

=1

Ol AP A 2 - 2kx — 33 +4 = 0 o] F2L 74 o, ot

9.

© k=0 © k=1

@ k=-1

@ a=0 ®a=1

@ a=-1

D66 06 0,6 @®ae6 60,6



10.

ol A k2 -3x -5 =09 F 2§

2x2 +ax+b=02 NLE W, b-a 9 FH2?

@D -36 ® -34 3 -26 @

24



® 21 B 22 @ 23 B 24

D 20



12, the 29 gol 9 A A7t ZAelA qlrk. 7bg 2 o] o)t
Gl £ o] Yoo gl 2w, AR HEe] Yol

@ 127cm? @ 137ncm? @ 14ncm?

@ 15mrcm? B 16rcm?2



ax? +2x+b

13. Az ek Al Aol x ghell sste] 2=

abc ©) F27

=4 o|2t gt of uf,

@D 100 @ 120 3) 240 @ —-120 3 =100



)
iy
=
—_
N
il
S
il
Xfo
vl
_—
o)
o
(an)
o
i
|
[
S %
|
A
)
i -
| S
ol
CUS
T o|)
™ N
—_
X or
o0

@ 3 B 4 @ 5 ® 6

@D 2



15. 529 2ol7} 320m 9 AR Fol A 1 Wol7} Hoj} sl 24
719 9] 7t o] ol g Fatelat

Qe -



